H1 Handle, 4.5"
|

H2 Handle, 4.5"
\

Mouser

534-481

H3 Ferrule, 0.25"
|

H4 Ferrule, 0.25"
|

H5 Ferrule, 0.25"
\

H6 Ferrule, 0.25"
|

Mouser

534-7163

M1 #8-32 1/2" flat

|
M2 #8-32 1/2" flat

|
M3 #8-32 1/2" flat

|
M4 #8-32 1/2" flat

McMaster-Carr
91099A265

PN1

Front panel
LIGO
D1100890-v1

PN4

Rear panel
LIGO
D1100891-v1

PN7

Top panel
LIGO
D1100892-v1

PN9

Bottom panel
LIGO
D1100892-v1

PN11

Side panel
LIGO
D1100893-v1

PN13

Side panel
LIGO
D1100893-v1

PN2
Housing profile

PN3
Housing profile

PN5
Housing profile

PN6
Housing profile
Frontpanel Express

Housing profile 1, 75mm

PN8
Housing bracket
Frontpanel Express

Housing bracket 8 x per unit, natural anodized

PN10
Assembly kit
Frontpanel Express

Assembly kit IGP/B6.0-NI DIN 965, nickel-plated

PN12
Screw kit
Frontpanel Express

Screw packet M3x6-965-NI DIN 965, nickel-plated

Use the hook-up wires from the EtherCAT
chassis (D0902552-v3)

The ground/shield wire needs to be
connected to the enclosure.

Wire the 24VDC i1nput through the thermal

switch.

Connect all EtherCAT couplers to 24VDC.

Safty output terminal (EL2904):
1 to LED 1
- Channel 2 to LED 2
3 to LED 3

- Channel

- Channel

Safety input terminals (EL1904):
- Terminal 1 (B8) Channel 1 to Switch 1
- Terminal 2 (B11) Channel 1 to Switch 2
- Terminal 3 (B14) Channel 1 to Switch 3

‘H7 standoff, 25mm | | | | | ‘MS #8-32 3/8" flat ‘MG #8 nu‘t ‘M7 #8 lock washe‘r

H8 standoff, 25mm PN14 PN15 PN16 M8 #8-32 3/8" flat M9 #8 nut M10  #8 lock washer

\ LED Indicator, ON Ring terminal, #10, AWG 16  Power pin, AWG 16-20 \ \ | \

H9 standoff, 25mm Digi-Key Digi-Key \ M11  #8-32 3/8" flat M12 #8 nut M13  #8 lock washer

\ 350-1892-ND A27243-ND PN17 \ \ \ \ \

Mouser \ \ \ Power pin, AWG 16-20 M14 #8-323/8"flat  M15 #3nut  M16  #8 lock washer

761-M1272-3005-SS PN18 PN19 Digi-Key \ \ \ \ \ \

‘Hlo standoff, 25mm ‘LED Indicator, 1 ‘On/Off switch | 626-1140-ND ‘M17 #8-32 3/8" flat ‘M18 #8 nu‘t ‘M19 #8 lock washe‘r

H11  standoff, 25mm PN20 PN21 \ \ McMaster-Carr

\ LED Indicator, 2 On/Off switch PN22 91099A260

H12  standoff, 25mm \ \ \ Power socket, AWG 16-20

\ PN23 PN24 Digi-Key

H13  standoff, 25mm LED Indicator, 3 On/Off switch 626-1144-ND

\ Digi-Key Digi-Key \ \

H14  standoff, 25mm 350-1898-ND CKN1066-ND PN25

\ D-sub shell, 3W3C

H15  standoff, 25mm Digi-Key

\ \ \ \ 626-1098-ND

Mouser PN26 PN27

728-FM2120-3005-SS DIN rail, 15" Thermal breaker Title . .

Digi-Key Allieg EtherCAT Communication Tester
ADR3515-S1500-ND 677-0189
Size Number Revision
A D1100884 1
Date: 5/28/2011 Sheet 1 of 2
File: C:\Users\..\EtherCAT Tester1.SchDoc Drawn By:Daniel Sigg
1 2 3 4




ded pu3 1706713 B
q14 [ ]
feuruniay indut [enfip [auueyd-y I4vSuIML SR ' L _ = N
061713 —-——_u!ﬁ_u I© =2Ho ...!amwm.. N
v1g _g = -_ﬁ_n-_.a Eweo EFmosE
- 4 144 £t -
= rJ M nm-gu_m_.l N
a'1l4 =9
m : i it S
o000 e@ 340HNI3G| X
J1aquy apows|Buis ‘yaums @i /m Jajdnod 1woJ8yi3 Joyyoagd m o
0T00-T0STX3 w —
e1d
ded pug 1106713 ,olo_
z1d [
Jeuiwaal indui [eubip jauueyd-y I4YSUIM L w it i ' I~
0617713 —__- [=weo = Ho = N !.Au [=m© ww. —
118 _g = ab_n-_.a = o EmeoE
- 4 tt1t
= iJ M-.I-m-1-—u =t
1 8
m c Wm 10508 | _ e
Soee| 0o dd0MMi3a I <
Jaq1y ‘youms @i /m J81dnod 1 QI8y13 Joyxdeg m <
TOSTH3 w —
otd
ded pug 170613 B

69 [

feutwJal indu [enBIp [auURYd-y I4YSUIML it ' «

woojm_ —__-_un_ﬁ_u I_Au _u!.lu mu!ﬁ ww. W__
8g _g _nsb_n-_.a _uEﬁ wn-_.o.._

ofre | o
e Nie®
LOLLY3
.,_.I._.EEm 44004938 | ©
- —
youms Qi /m 491dnod 1 oI8ui3 ﬂ
T0TTM3
/9 E
o
[T
[oe}
ded pug 1706713
9d [ ]
| = N~
:  tLs b & Z
uonoun( 1 woJayig ondo Jaqiy spownjnw uod-T = 5 w m.m i =
12STY3 £32£5 - ©
ad !
| = Lo
s fy O 4 2
uonounl ] woJayi3 ondo Jaqly apows|buls Wod-1 £ 5 w o m i ot
0T00-T2STY3 2% 5 o<
vd f
™
“_____m 1oEnc EFP Eno I
ErokEro Fuo Fno
Jeuiwa) Indino [enbip |suueyd-y I4VSUIM L %- ]!lu—l.a 3!6 o _u
¥062713 o~
ea ____3-_6]-_6 'mo | -_.omw

-ttt
071d 34vSuimL

Lmaaéj-_.o _j-:o 3-_.0
- ____3-_61-_6 | meo jn_.amww -

(R 3 SBT3 3L

ca _. (B.E]
VIR 440H}¥938

hw_ﬁ_joo 1WvDlaylg Joyxaag [
00TTH3
18 = .
Ll

1

Revision

| Drawn By:Daniel Sigg

[ Sheet 2 of 2

“™ D1100884

5/28/2011
C:\Users\..\EtherCAT Tester2.SchDoc

EtherCAT Communication Tester

Title
Size
B
Date:
File:

24V
24V

SM from Test
chassis
0.200 A

EL1904: 0.200 A

Power budget:

24V
24V
In
0.200 A

MM from Test

chassis

EL1904: 0.200 A

Power budget:

Test
In
0.200 A

24V
24V

EL1904: 0.200 A

Power budget:

from
chassis

MM
to chassis

SM

24V
Test
Out

1209 A

Power budget:

EL6900: 0.188 A
EL2904: 0.221 A
EL1521: 0.400 A
EL1521: 0.400 A

from
computer

Power contacts

Ebus




